Math 54 Worksheet

Non-Homogeneous Second-Order Linear Differential Equations

Part A

These questions test your knowledge of the core concepts and computations.

1. Write a trial solution for the method of undetermined coefficients (Do not determine the coefficients)

$$\begin{array}{c} 1. y'' - cy' + 2y = e^{x} + \sin x \\ \text{Homogeneous Bat:} \\ x^{2} \in x + 2 \ge 0 \\ A^{2} \notin \frac{1}{2} \frac{1}{2} \\ A_{1} \notin \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{2} & \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{1} & \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{2} & \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{2} & \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{1} & \frac{1}{2} \\ A_{2} & \frac{e^{x} + \left[\frac{1}{2} \frac{1}{2} \\ A_{1} & \frac{1}{2} \\ A_{2} & \frac{1}{2} \\$$

2. Solve the differential equations

(a)
$$9y'' + y = e^{2x}$$

(b) $y'' - 4y' + 4y = x - \sin x$
Solution:
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{2} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{2} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{3} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{3} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{3} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{3} \frac{1}{3}$
 $y'' + y = 0 \rightarrow 9x^2 + 1 = 0 \rightarrow x = \frac{1}{2} - \frac{1}{2} = \frac{1}{3} \frac{1}{3}$

Particular Solution: -

Refs =
$$e^{2x} \leftarrow G(x)$$

 $Y_{p} \rightarrow Assume \rightarrow \underline{Ae^{2x}}$
 $Y'_{p} = 2 Ae^{2x}$
 $Y'_{p} = 4 Ae^{2x}$
LHS = $qy' + y$
 $= q(4 Ae^{2x}) + (Ae^{2x})$
 $= 37 Ae^{2x}$
Comparing LHS & PHS:
 $37 Ae^{2x} = e^{2x}$
 $37A = 1$
 $A = \frac{1}{37}$
Thus,
 $Y_{p} = Ae^{2x} = \frac{1}{37}e^{2x}$
General Solutions:
 $Y = Y_{c} + Y_{p}$
 $= [c, Cas(\frac{1}{3})x_{+}(c_{2} Sin(\frac{1}{3})\pi] + [-\frac{1}{37}e^{2x}]$

- 2. Solve the differential equations
 - (a) $9y'' + y = e^{2x}$
 - (b) $y'' 4y' + 4y = x \sin x$

Solution:

Homogeneous Solution:
$$R^2 - 4R + 4 = 0$$

 $(R-2)^2 = 0$
 $R = 2 \longrightarrow Repeated Form.$
 $R_1 = 2$
 $R_{12} = 2$
 R_{1

Particular Solution

$$Y_p = (A_{x+B}) + (CSinx + DGSX)$$

$$Y'_p = A + CGSX - DSinx$$

$$Y'_p = -CSinX - DGSX$$

Substituting back in main DE:

$$\begin{array}{c} y'' - 4y' + 4y = x - Sn x \\
\hline (GSn x - D Gn x] - 4[A + C Gn x - D Snn x] + 4[(B + 4B) + (CSnn x + D Gn x)] = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + C) Gn x + 4Ax + (4B - 4A) = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + C) Gn x + 4Ax + (4B - 4A) = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + C) Gn x + 4Ax + (4B - 4A) = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + C) Gn x + 4Ax + (4B - 4A) = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + C) Gn x + 4Ax + (4B - 4A) = x - Sin x \\
\hline (4D + 3C)Sin x + (3D + 4C) Gn x + 2Gn x \\
\hline (4D + 3C)Sin x + (3D + 4C) Gn x + 2Gn x \\
\hline (4D + 3C)Sin x + (3D + 4C) Gn x + 2Gn x \\
\hline (4D + 3C)Sin x + (3D + 4C) Gn x + 2Gn x \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4D + 3C)Sin x + (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline (4A + 4A) + (2S + 4A) \\
\hline$$

Part B

These questions are generally more challenging, often highlighting important subtleties. They require a deeper understanding of each concept and the interrelations between them.

3. Solve the initial-value problems

```
1. y'' - 2y' + 5y = \sin x, y(0) = 1, y'(0) = 1
                                                                                                                                                          h^2 = 2h + 5 = 0
h = 2 \pm \sqrt{4 - 20} = 1 \pm 2i
                                           Homogeneous Solution:
                                                                                                                                                                0=1
                                                                                                                                                                   B=2
                                                                                                                                                  YH= e [ G (BX) + G Sin (BZ)]
                                                                                                                                                  y_{1} = e^{x} \int C_{1} G_{2}(2x) + C_{2} Sin(2x) 
                                                                                                                                                                                    Jp= A Sinx+ BGsx
                                                        Particular Solution
                                                                                                                                                                                      H= A Cosx - B Linx
                                                                                                                                                                                       Yp = - A dinx - B losx
                                        Sub-Back in main DE, we get: (A linx - B losx) - 2(A losx - B Sinx) + 5(A linx + B losx) = linx
                                                                                                                                                                                                                                                                     (28+4A) Sinx + (-2A+4B) Gos X = Sinx
                                                                                                                                                                                                                                                                  \begin{array}{c} \therefore 2B+4A=1 \\ -2A+4B=0 \end{array} \begin{array}{c} A=\frac{1}{5}, B=\frac{1}{10} \\ B=\frac{1}{10} \end{array}
    Condition -1 -> y(o)=1
          \begin{aligned} y &= c^{x} \left[ C_{1} \left( bs(0) + b \right]^{2} + \frac{1}{5} \left( 0 \right)^{2} + \frac{1}{10} \left( 1 \right) \\ y &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right]^{2} + \frac{1}{5} sin x + \frac{1}{10} sx \right] \\ y &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sx \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] \\ y' &= c^{x} \left[ C_{1} \left( cs(2x) + C_{2} sin(2x) \right)^{2} + \frac{1}{5} sin x + \frac{1}{10} sin x \right] 
             1 = G_1 + \frac{1}{10} \longrightarrow G_1 = \frac{q}{10}
   Condition -2 -> y'(0)=1
1 = \left[C_{1} + C_{2} \sin(0) - 2C_{1}(5) + 2C_{2} \cos(6)\right] + \frac{1}{5}(1) + 0^{2}
1 = C_{1} + 2C_{2} + \frac{1}{5} \qquad [We know C_{1} = 9/10]
\therefore C_{2} = -\frac{1}{20}
(4 = -\frac{1}{20})
                                                                                                                                                                                     y = e^{x} \left[ \frac{9}{10} \cos(2x) - \frac{1}{20} \sin(2x) \right] + \frac{1}{5} \sin x + \frac{1}{10} \cos x
```

2.
$$y'' + y' - 2y = x + \sin 2x, y(0) = 1, y'(0) = 0$$

Homogeneous Solution:
$$\Re^2 + \Re - 2 = 0$$

 $\Re^2 + 2\Re - \Re - 2 = 0$
 $(\Re + 2)(\Re - 1) = 0$
 $\Re_1 = -2$
 $\Re_2 = 1$
Thus $y_{H} = C_1 e^{2x} + C_2 e^{x}$

Particular Solution :

$$\begin{aligned} y_{p} &= Ax + B + C \sin(2x) + D(\cos(2x)) \\ y_{p}' &= A + 2C \cos(2x) - 2D \sin(2x) \\ y_{p}'' &= -4C \sin(2x) - 4D \cos(2x) \end{aligned}$$

Substituting back in main DE, we get $-4C \sin(2x) - 4D \cos(2x) + A + 2C \cos(2x) - 2D \sin(2x) - 2[Ax + B + C \sin(2x) + D(\cos(2x)] = x + \sin(2x)$ $(-6C-2D) \sin(2x) + (-6D+2Q) \cos(2x) + (A-2B) - 2Ax = x + \sin(2x)$ $\begin{array}{rcl}
-2A=1 & \longrightarrow & A=-\frac{1}{2} \\
A-2B=0 & \longrightarrow & B=-\frac{1}{4} \\
-6C-2D=0 & 2 & C=-\frac{3}{20} \\
-6D+2C=0 & J & D=-\frac{1}{20}
\end{array}$ $\begin{array}{rcl}
Thus \\
y_{p} = & -\frac{x}{2} - \frac{1}{4} - \frac{3}{20} \\
y_{p} = & -\frac{x}{2} - \frac{1}{4} - \frac{3}{20} \\
D = -\frac{1}{20} \\
D = -\frac{1}{20} \\
\end{array}$ $y = C_1 e^{-2x} + C_2 e^{x} - \frac{x}{2} - \frac{1}{4} - \frac{3}{20} e^{3in(2x)} - \frac{1}{20} (e^{3n(2x)})$ Condition -1 -> y(o)=1 $| = C_1 + C_2 - 0 - \frac{1}{4} - \frac{3}{20} \sin(0) - \frac{1}{20} \cos(0)$ $1 = C_1 + C_2 - \frac{1}{4} - \frac{1}{20}$ $C_1 + C_2 = 1 + \frac{1}{4} + \frac{1}{20} = \frac{20 + 6 + 1}{20} = \frac{26}{20} = \frac{13}{10}$ Condition -2 -> y'(0)= 0

$$\begin{aligned} \mathcal{Y} &= C_{1} e^{-2x} + C_{2} e^{x} - \frac{x}{2} - \frac{1}{4} - \frac{3}{20} e^{3in(2x)} - \frac{1}{20} (e^{3}(2x)) \\ \mathcal{Y}' &= -2C_{1} e^{-2x} + C_{2} e^{x} - \frac{1}{2} - \frac{6}{20} (e^{3}(2x) + \frac{1}{10} e^{3in(2x)}) \\ 0 &= -2C_{1} + C_{2} - \frac{1}{2} - \frac{6}{20} (e^{3}(0) + \frac{1}{10} e^{3in(0)}) \\ 0 &= -2C_{1} + C_{2} - \frac{1}{2} - \frac{6}{20} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ e^{3in(2x)} &= \frac{1}{2} - \frac{6}{20} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ e^{3in(2x)} &= \frac{1}{2} - \frac{6}{20} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ e^{3in(2x)} &= \frac{1}{2} - \frac{6}{20} \\ \frac{16}{20} &= -2C_{1} + C_{2} \\ \frac{16}{20} &= -2C_{1} \\ \frac{16}{20} &= -2C_$$

Thus,

$$y = (0.16) e^{-2x} + (1.13) e^{x} - \frac{x}{2} - \frac{1}{4} - \frac{3}{20} e^{3in(2x)} - \frac{1}{20} (e^{3}(2x))$$